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Q1. [Adv] Compare regular children’s activities at the park to what adults do. Discuss the facilities at parks that

are designed to cater for children, adults, and both.

SHOA 20|51 0{ES0| EE ol= €552 HlustM2. 0210|5F, 0{EF, O2|12 = O st ¥ A|4S0] Cis
Aol M2
3 Key Expressions
play on rides =0|7| & EIC}
ex) Many children were playing on rides in the playground. 0re 0j210| 50| =0|E0||A] =0|7|E Ef1 T}
take a walk A2 SIC}
ex) Do you want to take a walk? Ahzistef?
people of all ages M AL A=
ex) The song is popular with people of all ages. O el ™ HBTE| ARSOA 217]17F UL

Model Answer

At the park, children usually play on rides, roller-skate, or play games like hide-and-seek or freeze tag. The

facilities for children would probably only be the rides such as swings and slides.
Adults normally drink coffee while talking a walk, exercise, play sports, or ride bikes. Other than the playground
rides that | mentioned before, other facilities can be used by people of all ages, which include walking trails, bike

lanes, benches, and coffee shops.
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Vocabulary

cater for something ~0j| 2Lt
hide-and-seek =HEA
freeze tag A=

other than something ~S A5t
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Q2. [Adv] Take a minute to discuss some of the challenges today's parks are facing. What are some of the

biggest problems public parks are having these days, and what has caused this?
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3 Key Expressions

pose a serious threat to something ~0j| Azst ¢l

o4 = 7Fstct
ex) Drunken drivers pose a serious threat to other road users. &8F 2XZ=2C
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have a hard time Ving Vst ol 2417t UL, o282 ZAct

ex) We had a hard time understanding each other. fele= M2E Olsist= o 0131%% AAE LY
take action to V Val7| 9ol 22| F #|SICt

ex) We must take action to prevent the problem A7t CHE 9o 2 WA= WS 87| 2|d
from spreading to other areas. 22| Z Z[ol0F & L|Ct,

Model Answer

The biggest challenge today’s parks are facing, | think, is pollution. Lately Korea has had a big problem with air

pollution mainly caused by what’s called fine dust from China. It poses a serious threat to air quality throughout
the country. So people are advised not to stay outside for too long.

| believe today’s parks have fewer visitors and have a hard time managing the facilities. | used to go to the park
for a walk once in a while, but | haven’t done that in months because of this problem. Many feel that the

government must take stronger action to fight against this environmental hazard.
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a challenge S once in a while 7S

face something ~& ZiC}, 2ece|ct have not p.p in 7|2t ~ &2t p.pStA| EUACE

what’s called ~2t 22|l fight against something  ~Of] 2t AL}

advise someone to V ~7t Vot=& Aot} a hazard =]



